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Curent Freshman 'Future per capita (based on 3-person family)'

4.67

- AsaFreshmanin college | do not own
or use a car, which would lead to
my transportation footprint being
equal to zero. Currently, | very rarely
travel, but | live in a shared dorm with
more than 6 people, which would lead
to a very high household footprint.

'US Average'
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- Asanadult | would need to a car to
commute to work daily, leading to a
higher transportation footprint. As an
adult | would plan on traveling about
the sameas | currently do, if not less,
leading to a smaller travel footprint
than my current travel footprint.
| would also be living in a smaller
household, which would lead to a
significantly lower household footprint
in comparison to my current
household footprint.
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